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Question No : 1

State whether the following statement is true or false. All NetApp Services do not include
System Administration Services.

A. True
B. False

Answer: A

Question No : 2

When would the ideal time to use the NetCache DNS Tree Search option?

A. users will not always provide fully-qualified domain names
B. users always provide fully-qualified domain names

C. you want to reduce network traffic

D. faster resolutions are desired

Answer: A

Question No : 3

You are asked to build a FlexPod solution using Application Centric Infrastructure (ACI).

What are two ways to address the network requirements for high availability in this
scenario? (Choose two.)

A. Deploy the infrastructure in two data centers.

B. Deploy a single connected Cisco Application Policy Infrastructure Controller (APIC).
C. Use physical redundancy across the entire stack.

D. Configure virtual Port Channels (vPCs).

Answer: B,D

Question No : 4
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Through which of the following requests can’t the Browser be directed to the NetCache?

A. configuring the browser client to use an automaticproxyconfigurationfile
B. transparent redirection with WCCP on a Cisco router or switch

C. configuring the browser client to use WCCP

D. transparent redirection with a Layer 4 switch

Answer: C

Question No : 5

You are a data center architect at a service provider. You need to configure a new multi-
tenant FlexPod service offering.

Which three UCS Manager features will you need to accomplish this task? (Choose three.)

A. virtualization support

B. role-based access control
C. policies

D. auto discovery

E. service profiles

Answer: B,C,E

Question No : 6

You are deploying VMware on a FlexPod and require back up and space efficient cope
services for VMware virtual machines.

Which two are required to accomplish this task? (Choose two.)

A. SnapDrive

B. FlexClone

C. Virtual Storage Console
D. MetroCluster

Answer: B,C
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Question No : 7

State whether the following statement is true or false. The NOW site holds data maintained
by the Network Appliance. This information consists of records and customer product
information but this data is only available to authorized users.

A. False
B. True

Answer: B

Question No : 8

Which of the following options best describes what the configure "Shared User Hosts"
feature that is found under Appliance Manager's Setup > FTP > Caching Behavior is used
for?

A. a shared IP address that all requesting clients will use to circumvent any authentication
or user-specific key requirements on the backend FTP servers

B. FTP servers from which fetched objects will be cached and served without a user-
specific key requirement in order to increase the cachingefficiency

C. a subset of FTP servers that will be acceleratedbytheNetCache appliance

D. a subset of FTP servers that can be bound to a shared virtual IP address in order to
increase overall caching efficiency

Answer: B

Question No : 9

State whether the following statement is true or false. When configured as an accelerator,
the NetCache appliances are typically stationed near the server.

A. False
B. True

Answer: B

Question No : 10
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An architect is designing an Oracle FlexPod solution that must support non-disruptive
upgrades across all of the hardware components. The Oracle workload requires a 4-node
FAS system, including the NetApp CN1610 cluster interconnect switches.

In this scenario, how many 10GbE ISL links are required between the two cluster
interconnect switches?

A.8
B.2
C.0
D. 4

Answer: D
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